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Mon 22nd N-S
1st
Jeremy & Sean
58%
2nd
Bengt & Lars B
56%

E-W
1st
Janne & Jan
54%
2nd
Kenneth & Claus
54%

Wed 24th
N-S
1st
Mike G & Royd
60%
2nd
Robbie & Ivy
58%

E-W
1st
Hans V & Leif R
68%
2nd
Janne & Erik O
57%

Fri 26th    
N-S
1st
Janne & Lars B
60%
2nd
Jeremy & Sean
56%

E-W
1st
Dave C & Tomas
67%
2nd
Hans V & Leif R
61%

Bidding Quiz

Standard American bidding is assumed unless otherwise stated.
Hand A
Hand B
With Hand A partner opens 1♠, what do you bid?
♠ QJ96
♠ AKJ1063

♥ KQ8
♥ A62
With Hand B you open 1♠ and partner bids 1NT, what now?
♦ A1094
♦ K5
♣ 42
♣ A6

Bidding Sequence Quiz
E
1♠
pass
3♣

What is 3♣, weak, strong or mini-splinter?
E
1♠
pass
4♣

What is 4♣?

E
1♠
pass
3♥

What is 3♥?

E
1♠
pass
4♥

What is 4♥?

Current club championship standings
	
	Gold Cup = Best 30
	Silver Plate = Best 10
	Bronze Medal = Best 5

	1

2

3

4

5

6

7

8

9

10
	1930.6 Hans Vikman
1929.6 Janne Roos
1862.9 Paul Quodomine
1795.3 Tomas Wikman 

1757.4 Guttorm Longberg

1747.4 Jan Chris v Koss

1742.7 Bengt Malmgren

1734.8 Johan Bratsburg

1715.1 Mike Guin

1704.0 Bob Pelletier
	680.9 Hans Vikman
678.6 Janne Roos 

648.9 Tomas Wikman
640.1 Paul Quodomine 

632.7 Sally Watson

629.1 Alan Kleist

628.9 Derek & Gerard

627.2 Lars Broman 

625.6 Jean Wissing

623.8 Jeremy Watson
	354.1 Hans Vikman 

351.4 Janne Roos

336.9 Tomas Wikman
327.5 Derek & Gerard 

326.8 Lars Broman 

325.6 Sally Watson

325.3 Jeremy Watson

325.1 Jan v Koss

325.0 Alan Kleist

323.8 Tonni Kjaer


Is it a splinter?





Board 8 from Wednesday 24th Nov
Dealer:
♠ 743



Table A
West
♥ 6532

West

North
East(A)
South
Love all 
♦ 732

1♠

pass

4♥
(1)
pass

♣ 1095


pass
(2)
all pass

♠ AK10852

N
♠ QJ96

Table B
♥ 1074
W
E
♥ KQ8

West
North
East(A)
South
♦ Q8
S

♦ A1094

1♠

pass

2NT
(1)
3♣
♣ A8


♣ 42


4♠
(3)
all pass

♠ -




♥ AJ9





♦ KJ65








♣ KQJ763






Table A:
(1)
What did you bid with this East hand A in this week’s quiz? Later this East claimed that it was a splinter. If it was then it is ridiculous of course as a splinter shows shortage (singleton or void) in the suit and KQx is just about the worst possible holding when saying it is shortage.

(2)
Apparently with no agreement about 4♥ (see below). West passed.

Table B:
(1)
This is a reasonable option for question A, the Jacoby 2NT. The alternative is a simple 2♦ to be followed by 4♠.

(3)
Showing a minimal opener (3♠ would be stronger playing Jacoby 2NT).

And what happened? 4♥ was not a success. East at Table A ‘did a Chuck’ and immediately blamed West, apparently not realizing how ridiculous his ‘splinter’ bid was.

The bottom lines:

· You have to agree about splinters. Over a major 4♣ and 4♦ are usually played as splinters with 3♣ and 3♦ as weak jump shifts.

· But over 1♠ a ♥ splinter needs to be agreed. Some play 3♥ as the splinter and others 4♥. I personally prefer 3♥ as there is not so much use for a weak jump shift when your side has both majors. Also, 3♥ as a splinter leaves room for cue bidding.

· So I personally prefer to play 3♥ as a splinter and 4♥ long, weak to play.

· And, most importantly of course, a splinter shows shortage in the suit bid.

· Some of our best players play 3♣ and 3♦ as mini splinters, and this is a very sensible treatment but has to be agreed of course.
A jump rebid?





Board 11 from Monday 22nd Nov
Dealer:
♠ 84



Table A
South
♥ K1098

West

North
East(B)
South
Love all 
♦ J10983

-

-

-

pass

♣ 109


pass

pass

1♠

pass
1NT
(1)
pass

3♠
(2)
pass
♠ 97

N
♠ AKJ1063

pass
(3)
pass
♥ J7
W
E
♥ A62


♦ Q7642
S

♦ K5

Table B
♣ K542


♣ A6


West
North
East(B)
South

♠ Q52



-

-

-

pass
♥ Q543




pass

pass

1♠

pass
♦ A



1NT
(1)
pass

4♠
(2)
all pass
♣ QJ873






Table A:
(1)
1NT is very clear, but I see from the results that two players passed.


(2)
What did you bid with this East hand B in this week’s quiz? This great hand is worth game and this 3♠ bid, chosen by two players, is not the answer as it’s not forcing. 

Table B:
(1)
This is the answer to question B. This is a very strong hand and you want to be in 4♠ opposite virtually any hand worth 1NT with this strong suit.
And what happened? 4♠= twice, 3♠= twice, 2♠+2, 1♠+4 and 1♠+2. 
The bottom lines:

· With a good 19 points, jump to game (or make a forcing bid) when partner responds to your opening bid.
· Six points is too good to pass partner’s 1♠ opening (bid 1NT without ♠ support). 

· AKJ10963, with it’s very important 10 and 9, is worth more than eight points and is a playable suit even opposite shortage.

Dave’s  Column



Here is Dave’s (only) problem this week.
North
South


West
North
East

South
♠ 873
♠ 6
-

1♦

pass

1♥
♥ A64
♥ J10752

dbl

2♦

pass

pass

♦ AQJ542
♦ 1063

2♠

3♦

3♠

4♦


♣ 8
♣ AQ43

4♠
5♦

pass

pass
dbl

all pass
You are North, declarer in 5♦*, and East leads the ♠K. West plays the ♠4 - which is suit preference for ♣’s when dummy can win a continuation. East continues with the ♣2, plan the play.
Dave’s Column Answer




Board 25 from Wednesday 24th November 
Dealer:
♠ 873



Book Bidding
North
♥ A64

West

North
East

South
E-W vul 
♦ AQJ542

-


1♦

pass

1♥

♣ 8


dbl
(1)
2♦

pass

pass
2♠

3♦

3♠

4♦
♠ AQJ954
N
♠ K102

4♠

5♦

pass

pass
♥ K8
W
E
♥ Q93

dbl

all pass
♦ K7
S
♦ 98
♣ KJ9


♣ 107652
(1)
Too strong for a simple 1♠ overcall.

♠ 6

 


♥ J10752
You are North and East leads the ♠K.
 West plays the ♠4 
♦ 1063
which is suit preference for ♣’s when dummy can win a
♣ AQ43
continuation. East continues with the ♣2, plan the play.
You have lost a ♠ and are sure to loose one ♥. West’s bidding and signal at trick one should convince you not to take the ♣ finesse. You will have to hope that East has the ♦K and you will need to play the ♥’s for just one loser. Your best chance in ♥’s is to hope that the honours are split. You can play West for Hxx or Hx.
Dummy’s parlous entry position makes it much more attractive to play West for honour-doubleton in ♥’s. So take the ♣A and lead the ♥J. If West plays the ♥K, take the ♥A, ruff a ♠, ruff a ♣ and ruff your last ♠. Then play the ♦10 and overtake if west plays low. The ♦A now drops the ♦K and you lead a low ♥ towards dummy. When East contributes the ♥9 you will have to judge whether to play the ♥10 or duck in dummy, hoping for ♥KQ doubleton with West.
And what happened at the Pattaya bridge club? 4♦*+1, 5♦*-2, 5♦*-1, 4♦=, 3♦=, 4♠-2 and 4♠-1.
Bidding Quiz Answers
Hand A:
2♦, planning to bid 4♠ next go to show a good raise to 4♠. An immediate 4♠ bid here is generally played as pre-emptive. A Jacoby 2NT is an alternative if you play it, as is 4♦ Swiss but nobody seems to play this interesting convention these days.
Hand B:
4♠. Bid what you think you can make. 3♠ is pointless especially as it is not forcing.
Bidding Sequence Quiz Answers
C
1♠
pass
3♣

This is usually played as a natural jump shift, either very 

weak or strong. A mini splinter is a common alternative.
D
1♠
pass
4♣

This is generally played as a splinter, but the Swiss convention is a rarely played alternative.

E
1♠
pass
3♥

This is up to you and is usually either a splinter or a weak jump shift. I prefer to play it as a splinter and an Ambiguous Splinter is an interesting alternative originally devised by Marty Bergen.

F
1♠
pass
4♥

This is again up to you – generally either a splinter or to play.
PAGE  
4

